
Souřadnice vytyčovacích bodů : 

Č
.bodu 

    
Y

 
 

 
            X

      

1 
 

Y
 =

 875890.179      
 

X
 =

 1019760.837 
2 

 
Y

 =
 875861.092      

 
X

 =
 1019754.136 

3 
 

Y
 =

 875849.146      
 

X
 =

 1019751.384 
4 

 
Y

 =
 875838.629      

 
X

 =
 1019745.086 

5 
 

Y
 =

 875832.775      
 

X
 =

 1019741.580 
6 

 
Y

 =
 875816.849      

 
X

 =
 1019732.042 

7 
 

Y
 =

 875803.894      
 

X
 =

 1019718.747 
8 

 
Y

 =
 875774.460      

 
X

 =
 1019688.537 

Souřadnice vytyčovacích bodů : 

Č
.bodu 

    
Y

 
 

 
            X

      

1 
 

Y
 =

 875890.179      
 

X
 =

 1019760.837 
2 

 
Y

 =
 875861.092      

 
X

 =
 1019754.136 

3 
 

Y
 =

 875849.146      
 

X
 =

 1019751.384 
4 

 
Y

 =
 875838.629      

 
X

 =
 1019745.086 

5 
 

Y
 =

 875832.775      
 

X
 =

 1019741.580 
6 

 
Y

 =
 875816.849      

 
X

 =
 1019732.042 

7 
 

Y
 =

 875803.894      
 

X
 =

 1019718.747 
8 

 
Y

 =
 875774.460      

 
X

 =
 1019688.537 


